



名前: _____

日にち: _____ スコア: _____

$$\left(-\frac{3}{5}\right) + \frac{1}{2} =$$

$$\left(\frac{3}{5}\right)^0 - \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{3}\right)^2 - \frac{1}{2} =$$

$$\left(\frac{1}{5}\right)^2 + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{6}\right)^0 + \frac{3}{4} =$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{6}\right)^3 + \frac{1}{3} =$$

$$\left(-\frac{1}{6}\right)^2 + \frac{1}{4} =$$

$$\left(-\frac{1}{2}\right)^0 + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{4}\right) + \frac{1}{4} =$$

$$\left(-\frac{1}{2}\right)^3 + \frac{3}{5} =$$

$$\left(\frac{1}{3}\right)^2 + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{3}{4}\right)^3 + \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{3}{4}\right)^3 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{3}\right)^3 + \frac{1}{2} =$$

$$\left(-\frac{1}{3}\right)^3 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{3}{4}\right)^3 - \frac{3}{4} =$$

$$\left(\frac{1}{2}\right)^3 - \left(-\frac{3}{5}\right) =$$



名前: _____

日にち: _____ スコア: _____

$$\left(-\frac{3}{5}\right) + \frac{1}{2} = \left(-\frac{1}{10}\right)$$

$$\left(\frac{3}{5}\right)^0 - \left(-\frac{1}{6}\right) = \frac{7}{6} = 1\frac{1}{6}$$

$$\left(-\frac{1}{3}\right)^2 - \frac{1}{2} = \left(-\frac{7}{18}\right)$$

$$\left(\frac{1}{5}\right)^2 + \left(-\frac{1}{3}\right) = \left(-\frac{22}{75}\right)$$

$$\left(-\frac{1}{6}\right)^0 + \frac{3}{4} = \frac{7}{4} = 1\frac{3}{4}$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{1}{6}\right) = \frac{5}{12}$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{1}{4}\right)$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{3}{5}\right) = \left(-\frac{19}{40}\right)$$

$$\left(\frac{1}{6}\right)^3 + \frac{1}{3} = \frac{73}{216}$$

$$\left(-\frac{1}{6}\right)^2 + \frac{1}{4} = \frac{5}{18}$$

$$\left(-\frac{1}{2}\right)^0 + \left(-\frac{1}{3}\right) = \frac{2}{3}$$

$$\left(-\frac{1}{4}\right) + \frac{1}{4} = 0$$

$$\left(-\frac{1}{2}\right)^3 + \frac{3}{5} = \frac{19}{40}$$

$$\left(\frac{1}{3}\right)^2 + \left(-\frac{1}{6}\right) = \left(-\frac{1}{18}\right)$$

$$\left(-\frac{3}{4}\right)^3 + \left(-\frac{2}{5}\right) = \left(-\frac{263}{320}\right)$$

$$\left(-\frac{3}{4}\right)^3 + \left(-\frac{1}{2}\right) = \left(-\frac{59}{64}\right)$$

$$\left(\frac{1}{3}\right)^3 + \frac{1}{2} = \frac{29}{54}$$

$$\left(-\frac{1}{3}\right)^3 - \left(-\frac{1}{2}\right) = \frac{25}{54}$$

$$\left(\frac{3}{4}\right)^3 - \frac{3}{4} = \left(-\frac{21}{64}\right)$$

$$\left(\frac{1}{2}\right)^3 - \left(-\frac{3}{5}\right) = \frac{29}{40}$$